Production Possibilities


In 1979 there was an extreme gas shortage. The answer to this problem people thought lied in Alaska. Alaska had over 150 million acres of land that was going to be used for natural park purposes. When the gas shortage aroused, then people thought about using the 150 million acres for mineral and oil use. We always face choices, also known as trade offs, use the land for oil and mineral use, or more than double the country’s national parks

In 1867 when America purchased the territory of Alaska from Russia, it was derived as a waste of money. Then several years later, people realized the richness of that state. It went though a couple of gold rushes, and the oil and other precious minerals were known to be under the ground there. The congressman from Alaska, Don Young, thought it was ridiculous to donate the 150 million acres for a “playground.” He also thought that there were over 30 precious minerals under Alaskan soil that they are not allowed to get because it’s against the law due to the Alaska Land Act. Arizona congressman Morris Udall, on the other hand, thought it was important to donate that land for park purposes. 

Alaska is the last wild home to many animals and endangered species. Here is where a trade off occurs, keep the land for natural park purposes or use it for its minerals. Finally, President Carter made the decision to make the Alaska Land Act, and use that land for natural park purposes.

The state of America was in the depression from the 1929 stock market crash, and it stayed that way for ten years until World War II started and the economy boosted due to the need to steel to make guns and planes. Soon they opened new factories and created new jobs, which started to pull the Americans out of the depression. The economy kept growing due to the demand for goods for the war. With new jobs and more money, everyone was consuming more, so finally consumer goods like clothes and luxury items started being bought again. 

The auto industry decided to stop making cars to start producing more planes and war crafts. People were outraged, but realized that sacrifices had to be made for the war. There’s an example of a trade off, the auto companies had to stop producing cars and put those materials otherwise used for cars into making goods for war. 

Most of the 1930’s the production possibilities curve was on the inside, which meant that we were not up to par on the amount of jobs, the demand for the goods, and the materials to make these goods. 

In textile mills, people were dying of brown lung disease, which was caused by cotton particles being inhaled during working. People were protesting and masks were starting to be used to help protect the workers form brown lung disease. People were still getting it, however, and went on huge strikes to protect the lives of the workers. However, eliminating all the chances of getting brown lung disease can’t be completely eliminated with out eliminating the business and keeping up with our foreign competitors. Gill thought it was typical of economic problems. 
